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@medical _sa

Part One: Reading comprehension

Directions: Read the following passages carefully. Each Passage is followed by some questions. Complete
the questions with the most suitable words or phrases (a, b, ¢, or d).
| Base your answers on the information given in the text only.

Passage 1

The ability to laugh, play, and have fun with others not only makes life more enjoyable but
also helps you solve problems, connect with others, and be more creative. People who
incorporate humor and play into their daily lives find that it renews them and all of their
relationships.

Life brings challenges that can either get the best of you or become playthings for your
imagination. When “you become the problem” and take yourself too seriously, it can be hard to
think outside the box and find new solutions. But when you play with the problem, you can often
transform it into an opportunity for creative learning.

Playing with problems seems to come naturally to children. When they are confused or
afraid, they make their problems into a game, giving them a sense of control and an opportunity
to experiment with new solutions. Interacting with others in playful ways helps you retain this
creative ability.

121 — The text is ...... playing and having fun in life.
a) in favor of b) critical of c) impartial about d) skeptical about
122 — As part of its benefits, a happy approach to life can help the individual to get more ......
a) destructive b) apprehensive C) innovative d) aggressive

123 — The first paragraph views humor as a/an ..... in people’s daily lives.

a) treatment b) possible obstacle c) useful option d) problem

124 . The 1deas in the second paragraph are ..... those in the first paragraph.

a) 1dentical to b) irrelevant to ¢) underestimations of  d) elaborations of

125 - According to the passage, life challenges ..... the individual.

a) are unlikely to cause harm to
b) could hardly be transformed into chances by

c) automatically bring about prosperity to

d) could be changed into opportunities by

126 — The text implies that when handling problems through play, ......

a) children adopt a more successful approach

b) adults and children follow more or less similar methods l
c) children are advised to follow adults’ approach

d) adults usually interact with children
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Passage 2~ @medical_san
In the developed world, targeting three disease-linked behaviors could provide huge benefits
in human and financial terms. The first of these is tobacco smoking, causing death through lung
cancer and vascular disease as well as chronic obstructive pulmonary diseases. Eating too many
fatty and sugary foods and not exercising is one of the main Fauses of diabetes. According to the
WHO, diabetes is likely to be one of the most substantial threats to human health in the 21% |
century, with a projected financial cost of $ 192 billion by 2020 for the United States alone. The
final behavior is a reduction in alcohol abuse. Studies show that the misuse of alcohol can be
responsible for up to 5% of hospital admissions and can impact significantly on heart disease,
diabetes and liver failure. The medical profession has been aware for long time that population
health is improved by prevention. With a rapidly aging population, it is important that a similar
conclusion is reached by governments in the developed world.

127 . The first sentence implies ..... unhealthy habats.

| a) the necessity of change in people’s

b) minimizing the huge benefits of

c) discovering three diseases leading to

d) the provision of three behaviors causing

128 — According to the passage, the WHO has ..... the amount of mioney paid for diabetes in the USA.

a) financed

b) covered

c) estimated
d) provided

129 . The author considers alcohol misuse as a ......

| a) physical and emotional disease

b) disease-causing behavior

c) cost-effective behavior

d) liver-strengthening factor

130 — The reason for one out of 20 admissions to hospital is ..... ‘

a) tobacco smoking
b) heart disease

c) lack of exercise

d) alcohol abuse

131 . “Similar conclusion” in the last sentence refers to ......

a) role of preventive medicine in health promotion

b) responsibility of governments in reducing hospital admissions

c) 1impact of preventive medicine in slowing people’s rapid aging

d) role of governments in taking care of the ageing population

Pl 27OVEMEL
sanapezeshki.com




ol 77OVFFKO

— -.-- .r.

4 | R0 )

@medical_sang

Another critical factor that plays a part in susceptibility to colds is age. A study done in the
University of Michigan, School of Public Health, revealed particulars that seem to hold true for
the general population. Infants are the most cold-ridden group, averaging more than six colds in
their first year. Boys have more colds than girls up to age three. After the age three, girls are
more susceptible than boys, and teenage girls average three colds a year to boy’s two.

The general incidence of cold continues to decline into maturity. Elderly people who are in
good health have as few as one or two colds annually. One exception is found among people in
their twenties, especially women, who show a rise in cold infections, because people in this age
group are most likely to have young children. Adults who delay having children until their
thirties and forties experience the same sudden increase in colds.

Sy 9 bl g @3319-&35-3.'3')

Passae '

132 . The paragraph before the first paragraph most probably is about ..... colds.

a) diseases hardly related to

b) numerous benefits of

c) factors affecting vulnerability to

d) methods of preventing

133 — The results of the Michigan study ......

a) have numerous inconsistencies

b) contradict the results of previous studies

c) are limited to high school children

d) are related to different age groups

134 - According to this passage, ...... are most likely to catch colds.

a) male and female babies

b) mature young girls

c) teenage girls
d) the elderly

135 — The writer in this passage, ..... .

a) is highly critical of the 1ssue
b) 1s unaware of the topic

c) considers his personal views

d) tries to remain objective

136 — The word “particulars” in paragraph 1 line 2 is closest in meaning to ..... :

a) MmINor errors

b) specific facts
| ¢) small distinctions

d) experienced individuals
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Nanoparticles are materials with overall dimensions in the nanosecale, i.e. under 100nm. In
recent years, these materials have emerged as important players in modern medicine, with
applications ranging from contrast agents in medical imaging to carriers for gene delivery into

~ individual cells. Nanoparticles have a number of pmpertieg that distinguish them from bulk
materials simply by virtue of their size, such as chemical [reactivity, energy absorption, and
biological mobility. l

Nanoparticles are also referred to as “zero-dimensional” nanomaterials. This definition
arises from the fact that all of their dimensions are in ftne nanoscale, as opposed to one-
dimensional nanomaterials, which have one dimension larger than the nanoscale (such as
nanowires and nanotubes), and two-dimensional nanomaté-rials, which have two dimensions
larger than the nanoscale (such as self-assembled monolayer 15-'1[1113).

The benefits of nanoparticles to modern medicine are numerous. Indeed, there are some
instances where nanoparticles enable analyses and therapies that simply cannot be performed
otherwise. However, nanoparticles also bring with them unique environmental and societal
challenges, particularly in regard to toxicity.

137 — In the passage, overall dimensions refer to ..... .

a) less than 100nm
b) zero-dimensional particles
c) one-dimensional particles

d) equal to 100nm

138 — Nanoparticles are different from bulk materials in all the following except ......

a) biological mobility
b) chemical reaction
c) energy absorption

d) gene delivery

139 — “such as” in line S refers to ..... ;
a) size of materials b) bulk materials ¢) nanoparticles d) properties
140 — We understand from the passage that, despite their advantages, nanoparticles have had ..... .

a) extensive uses

b) environmental benefits
¢) drawbacks
d) fatalities

141 —~ Nanowires are examples of ..... .

a) Zero-dimensional nanomaterials

b) one-dimensional nanomatenals
¢c) nanotubes

d) nanoscales
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Most human diets contain between 10 and 15 percent of their total calories as protein. The
rest of the dietary energy comes from carbohydrates, fats and in some people, alcohol. The
proportion of calories from fat varies from 10 percent in poor communities to 40 percent or
more in rich communities.

In addition to providing energy, fats have several other functions in the body. The fat-
soluble vitamins, A, D, E, and K, are dissolved in fats, as their name implies. Good sources of
these vitamins have high oil or fat content, and the vitamins are stored in the body’s fatty tissues.
In the diet, fats cause food to remain longer in the stomach, thus increasing the feeling of fullness
for some time after a meal is eaten. Fats add variety, taste, and texture to foods, which accounts
for the popularity of fried foods. Fatty deposits in the body have an insulating and protective
value. The curves of the human female body are due to strategically located fat deposits.

Whether a certain amount of fat in the diet is essential to human health is not definitely
known. When rats are fed a fat-free diet, their growth eventually ceases, their skin becomes
inflamed and scaly, and their reproductive systems are damaged. Two fatty acids, linoleic and
arachidonic acids prevent these abnormalities and hence are called essential fatty acids. They
also are required by a number of other animals, but their roles in human beings are debatable.
Most nutritionists consider linoleic fatty acid an essential nutrient for humans.

oL LU

S 9 bl g Sl gmasdly

142 . It is implied that

a) poor people eat less fatty foods
b) certain fatty acids cause damage to the body

| ¢c) fats hinder the breakdown of vitamin K

d) a certain amount of fat is essential to health

143 — Body fats serve all of the following functions Except for ..... :

a) causing a feeling of fullness

b) insulating and protecting the body

¢c) providing energy

d) controlling weight gain

144 _ If rats are nﬂurishedtfvith diets without fat, they ..... :
a) stop growing
b) become more reproductive

c) lose body hair

d) increase body curve

145 — The phrase “these abnormalities” (in line 15 ) refers to ..... :

a) well-located fat deposits
b) consequences of fried foods

c) curves on the human female body

d) problems due to fat-free diets
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Part two:=%

Directions: Complete the following sentences by choosing the best answer.

146 . Taking time to rest the mind and nervous system via meditation can ---—--— the autonomic

nervous system tone, which is an essential requirement for gefting and staying well.

a) promote

147 — This farm soil contains all valuable —

a) ingredients

148 — The patient could not forget the shock of the accident since he frequently had -- -

pCabulary Questions:

b) diminish

@medical_san

c) eliminate d) invade

b) calories

concerning what had happened to him.

a) setbacks

b) washback

- needed for the growth of plants.

¢) herbs d) nutrients

c) feedback d) flashbacks

149 — It is still unclear whether prenatal and infant diets have any appreciable influence on a child’s

future ——

a) accessibility

150 — Exercise is the most efficient way to build up and ---- a reasonable level of physical fitness.

a) maintain

a) prolonging

to dental caries.

b) accountability

b) reverse

151 = Although humor and laughter cannot provide a definite cure/for diseases, they are a sure-means

of ---—-- fear, distress and anxiety.

b) precipitating

¢) susceptibility d) feasibility

c) penetrate| d) hinder

!

¢) moderating d) elevating

152 — After a prolonged discussion of the problem, the physicians came to a sound ---------- ;

a) Integrity

I increase in number.

a) dormant

prl 770VIFPFo
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b) remedy

b) virulent

c) subsistence d) resistance

153 - Some animals such as mice and insects are very ----—------; under proper conditions they quickly

d) beneficial

¢) prolific -




L]

ol 77OVFFIO

. = .. | Y - ‘l&" 3 a' - _ b -=-L' |
L ek Sy 2 bl 9 Siglang sy o L Ik
; e .
154 . She suddenly lost her ----------- and fell on the floor. @medical_sane
a) confusion b) equilibrium ¢) delusion d) adherence
155 — When the body is healthy, its various substances and energies are in --------—- balance, both

internally and in relation to the external environment.
a) 1nadequate b) improbable ¢) heterogeneous d) harmonious

156 — With the —--—-—- popularity of anti-bacterial hand gels and washing products, it is easy to

believe that dirt will soon be ineffective.
a) threatening b) diminishing ¢) soaring d) declining

157 — An extensive program of vaccination against the disease proved effective and resulted in the

complete —- of the virus.
a) reservation b) concentration ¢) eradication d) dissemination
158 — Long-term use of addictive drugs can lead to dependency, and if they are —eemm—- suddenly,
severe reactions of the body may occur.
a) denoted b) withdrawn ¢) exposed d) encompassed
159 — Among different reasons-------- more studies on the origin of life, human curiosity may have been
the most important. |
a) prompting b) hindering c) ceasing d) concealing
|
160 — The governors’ ----—-- -- about the increase-in unemployment in the country will cause a great

problem for the youth in future.
a) concern b) complacency ¢) irreversibility d) forecast
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